ADJUSTABLE CONDENSING UNIT BASE

Aluminom Rail (See diagram)

11/2” x Sch 40

4" x4 %1/4" BasePlate f
—_—,
s

1 1725l 12 5 093%

“ALUMA STAND-HD”

Pal [Typ. by Contrashr

“Heavy Duty”

Exposure “C”

Typled A/CURLE

=

516"« 11,

2" 85 rust and bolt
11/4"x11/4" x.125"

1. Provide 4-22 Ga. hurricane straps(ses
note $)per A /C Unit
Optional attachment methods
A) Use 1/8* fillet weld all around each
strap
E} 2-5/8" #10 “Tek Serews” to Aluma
Stand mi andsameto A /C Undt.
2,4-3/8"x 34" 1g AJ07 steel galv, bolts to
each stand

1/4" x3/4" long 55 Thumbscrew,
Minimum torque forthumbscrews
20 ft/1bs orto resisthonzontal

structures

structure

18upport frames 6061-T6 Aluminum Alloy (an exterior exposure all
2Yicld strength shall be 3 5ksi and i i

form to then A

ROOF ALLOWAEBLE ALLOWABLE UPLIFT LATERAL COMPRESSION BENDING
MATERIAL | FLEVATION | WGT/UNIT MOMENT
@146 mph
Comerete Decle 1807 350 Ibs 282# 318# 592# 252.0ft b
Steel Bar Joist
Wood Deck 75 350 1bs 282# 31s# 582# 284.0ftlb
Notes

o), all joints welded, other that shown

3IWeld filler shall be aluminum alloy 4043 with a tensile strength of 15ksi

4Frame withstands wind loads as per 2001 Florida Building Code and ASCE 798

51t is the responsibility of the installing contracor © provide adequate anchorage as shown on this plan, and to
provide corrosion resistant isolation pads at the bottom of the base plates when bearing on concrete and steel

6Expamsion bolts & lags screws shall have a minimum spacing of 2.5” & a minimum edge distance of 1” for lags
and 3" for expansion bolts
7Vibration isclator pads shall be provided by the A/C Contractor so as not to causc vibration to cxzisting sub-

8Calculations are based on the surface of the A/C unit, This is determined by multiplying the unit width by the
unit height, with the result being the surface square footage, The maximum sixzes allowed for the Aluma Stand are
denoted in the mble on page 2

Complies With ASCE 7-98 @ 146mph

DESIGN WIND PRESSURE

Maximum
‘Wind Pressure

A/C Stard on Concrete Roof 79.0 psf’
or Steel Joist Structure

LA/ Sted om Wood Deck Roaf 79.0 psf

Typical Connection to Std. Wgt. Concrele

FASTENERS:
4-1/4" Hilti
“KWIK Edlt 11"~
w2 Min Embedment
OF.

4-1/4 Dia Rawl
MushroomHead Spikes
i 11/4" Min Embedment

wn
Sw
o
c s 0 g
=&
T30
2030 e
= =
SEE—©
Lo DL =
m$qﬂ' £
2 T
SR
SDRZ T~
&
L.Ju_.owwﬁ
S o T &
ZEERE™
E5273
o= o
mgox o
[

[ |

Base Plate i
1
Concrete Desk _//

_li__

RAIL SECTION Typical Connection to Steel Joist 5§
—_— Cut avvay metal deck plate to bear directly on jist top chard % b
S o
&
R
adg
S bl o) *
4-HILTI Model - EF
OB I #EDszP0x3aLg 5o
Four (4) L) S
Tsne 14 selftapping owenLiiven aseners 4
‘ = (typ. ca baseplate) %
e 5
=
CIAMP DETAL et St ; =
s Joist Stiffener Requirements 5 § §
, B
55873
] aE A
|
‘ =1
|
!rawn Ey‘
g £44 web member when Af C stand supportis not on pansl points CHP
Drawing #
- . 1
4 HP ical Connection to Rewiston Dates
Wood Beam/Truss L0714/96
1271296
& 6/14/99
8/21/01
4/15/02

< >

I
I

OPTIONAL 4-3/8" lag screws
O 2-3/8" lag screws w /2 142" Min
Tew Hiles - o
¥ w3142 Min Emberment
Embedment into Bearn/ Truss
o & © into Beam/ Truss (typ. Ba. Base Plate)

Side
1 of 2

Wuoil Truss | N J




